



Republic of the Philippines **VISAYAS STATE UNIVERSITY** Visca, Baybay City, Leyte

PURCHASE REQUEST

PPMP No.: 24-5-1917-2022-10-0-32

PR No.: GF-2022-12-02433

Date: 12-07-2022

Dept./Office: PRCRTC

Category: Construction

and Electrical Supplies

Section/End-User: Kim Ralph D. Rosal

Project Title/Code: Internationalization Fund: VSU-IP-

Funding Source: General Fund - MOOE

Item #	Item Description	Unit	Qty	Unit Cost	PAR/ICS	Total Cost
1	2-Way Glass Door for VSU Technomart Expansion	set	1	18,000.00		18,000.00

Specification:

- 2-Way Glass Door same with VSU-TBI Building
- -Tinted with metal frame

Specification:

flush type

Sched 40, Durable, Good Quality **Electrical Outlet, Two Gang** Universal with ground prong,

Electrical Square Box (PVC), 4" x

	-3 x 2 m dimension								
	-with installation								
2	Concrete Hollow Blocks (CHB), 4"	pieces	250	25.00	6,250.00				
	Specification:			•					
	?3-Cell Concrete Hollow Block 4" ?At least 350psi								
3	Crushed Stone (around 10mm diameter size)	cu.m.	10	2,000.00	20,000.00				
	Specification:								
	Crushed Stone (around 10mm diameter size)								
4	Electrical (PVC) Long Sweep Elbow, 1" x 90deg	pcs	4	120.00	480.00				
	Specification:				•				
	PVC Pipe Long Elbow, 1 1/4 (32 mm)Diameter Electrical								
5	Electrical Conduit (PVC) Orange, 1"(32mm) x 3m	length	17	220.00	3,740.00				

43

5

set

pcs

400.00

55.00

17,200.00

275.00

8	Electrical Switch, Single (Flush type)	set	5	150.00	750.00
9	Electrical Switch, Three Gang				730.00
	(Flush type)	set	5	282.45	1,412.25
10	Electrical Tape, Vinyl Specification:	rolls	15	75.00	1,125.00
	?Flame retardant and compatible with p ?Flexible PVC with aggressive rubber a ?Primary electrical insulation for all wird ?19mm x 16m x 0.155mm ?Heavy Duty ?ASTM approved	adhesive			
	Electrical Wire, THHN / THWN, AWG 10 (5.5mm2), Stranded, 150 meters/box Specification:	boxes	1	8,000.00	8,000.00
	?Building Wire ?Stranded with Nylon Insulation ?Gauge 10 ?UL listed				
12	Electrical Wire, THHN / THWN, AWG 12 (3.5mm2), Stranded, 150 meters/box	boxes	5	6,300.00	31,500.00
	?Building Wire ?Stranded with Nylon Insulation ?Gauge 12 ?UL listed				
	Electrical Wire, THHN / THWN,				
	AWG 14 (2.0mm2), Stranded, 150 meters/box	boxes	4	4,500.00	18,000.0
	AWG 14 (2.0mm2), Stranded, 150	boxes	4	4,500.00	18,000.0
	AWG 14 (2.0mm2), Stranded, 150 meters/box Specification: Building Wire (Green Color) Stranded with Nylon Insulation Gauge 14	boxes	50	4,500.00	
4	AWG 14 (2.0mm2), Stranded, 150 meters/box Specification: Building Wire (Green Color) Stranded with Nylon Insulation Gauge 14 UL listed Electrical Wire, THHN/THWN,				18,000.0

Electrical, Panel board (Single set 1 33,625.00 phase) bolt on 33,625.00 Specification: Panel board bolt-on type single phase Main: 100 amperes single phase 10 KAIC Branches: 3pcs 15 amperes 2 pole 10 KAIC 5pcs 20 amperes 2 pole 10 KAIC 6pcs 30 amperes 2 pole 10 KAIC Electrical, Utility Box, 2" x 4", 17 30.00 piece 55 1,650.00 Orange Specification: **PVC** Fiber Reinforced Cement Board. 18 sheets 72 900.00 64,800.00 1/4" (thickness) x 4' x 8' Fixed Glass Window for VSU 19 162,000.00 9 18,000.00 set Technomart Expansion Specification: Fixed Glass Window - same with VSU-TBI Building -Tinted with metal frame -12 ft x 2 m dimension -with installation LED Fluorescent Tube (T8) with 20 louver reflector (Double), 18 watts 21 1,614.00 33,894.00 set x 4ft, (Recessed type) LED Fluorescent Tube (T8) with 941.50 2,824.50 21 | louver reflector (Single),18 watts x set 3 4ft, Recessed type 120,000.00 300 400.00 22 Metal Furring, 1" x 2" x 6m length 6,750.00 450.00 boxes 15 23 Metal Screw, Furring (size 1") Pin Light, 9 watts round type day 18 269.00 4,842.00 set 24 light 15,000.00 10 1,500.00 Sand, Washed cu.m. 25 Two Gang Floor Outlet Universal 4,842.00 2,421.00 2 set 26 with Ground Prong 598,849.75 TOTAL Purpose: For VSU Technomart Extension

Checked by:	MARLON G. BURLAS		Funds Available: ALICIA M. FLORES		
T	WG - Construction and Electrical S	HEAD, BUDGET OFFICE			
Signature:			Mille C	Approved by:	
Printed Name:	KIM RALPH'D. ROSAL	ALAN	B. LORETO	EDGARDO E. TULIN	
Designation:	END USER	UNIT HEAD,	PROJECT LEADER	PRESIDENT, VSU	

Page 4 of 4